	Задание: Выполните алгоритм.  Получившийся ответ соотнесите с буквой в таблице и выпишите эту букву  

	№1
опусти_перо; в_точку (10,10); в_точку (10,-30);   
	№ 2
в_точку (10,10);

опусти_перо;

вектор (10,0);

вектор (0,40);

вектор (-10,0);

вектор (0,-40);
	№ 3
в_точку (20,10);

опусти_перо;

вектор ( -10,0);

вектор (10,10 );

вектор (0,10);

вектор ( -10,0);
	№ 4

опусти_перо;

вектор (10,10);

вектор ( -10,0);

вектор ( 10,10);

вектор ( -10,0);


	№ 5

опусти_перо; вектор (0,10);

вектор (10, 10);

вектор (-10,0);   
	№6

в_точку (20,30);

опусти_перо;

вектор (-10,-10);

вектор (10, 0);

вектор (0,-10);

вектор (-10,0);

вектор (0,10);

	№ 7

в_точку (10,30);

опусти_перо;

вектор (0,-10);

вектор (10, 0);

вектор (0,10);

вектор (0,-20);

                      
	№ 8

опусти_перо;

вектор (10,10);

вектор (0, 10);

вектор (-10,0);

вектор (0,-10);

вектор (10,0);   

	

	1
	5
	6
	11
	16
	7
	0
	2
	15
	4
	12
	8
	3
	13
	9
	14

	А
	З
	И
	Ь
	Н
	Р
	Л
	Г
	Е
	Т
	У
	Л
	О
	С
	М
	П


